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Multiplica decimales por potencias de diez

Nombre:

5,938 x 100000 =

7,098 x 1000000 =

Fecha: Puntuacion:

10,708 x 10 =

8, 806 x 10000 =

2,961 x 1000000 =

1,222 x 1000000 =

7,423 x 100 =

6, 594 x 100000 =

3, 085 x 1000000 =

10, 533 x 1000 =

3,924 x 10 =

6, 715 x 100000 =

5,501 x 1000 =

5,245 x 1000000 =

5,725 x 10000 =

7,562 x 1000000 =

6, 064 x 1000000 =

9,809 x 10 =

6, 887 x 1000 =

10,622 x 100 =
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Nombre: Fecha: Puntuacion:
5,938 x 100000 = 593800 10,708 x 10 = 107.08
7,098 x 1000000 = 7098000 8, 806 x 10000 = 88060
2,961 x 1000000 = 2961000 1,222 x 1000000 = 1222000
7,423 x 100 = 742.3 10, 533 x 1000 = 10533
6, 594 x 100000 = 659400 3,924 x 10 =39.24
3, 085 x 1000000 = 3085000 6, 715 x 100000 = 671500
5,501 x 1000 = 5501 5,725 x 10000 = 57250
5,245 x 1000000 = 5245000 7,562 x 1000000 = 7562000
6, 064 < 1000000 = 6064000 9,809 x 10 = 98.09
6, 887 x 1000 = 6887 10,622 x 100 = 1062.2
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